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20 1000 BEHAT BEH 2 = 6.02 iR X INKER




[miERE] BARERG 32338 # EF (BE0 - 89F) 2020

Fah 2.721keg 100mH 13.76(-1.3) -HJ 1.64 -SP 11.19 -200m 25. 64 (0. 9)

LR RE 31028 KB YR (f85F - XiR) 2005

100mH 14.40(+0.6) —HJ 1.64 =SP 12.01 -200m 26. 73 (+0. 6)

399 R K4 g [2q] 84 | oomH | BEE | 58 | mhis 200m | EE =] XE4 B %
1 2747 hig B ABE [ 3| #B | 1495 0.2 155 835 2598 2.0 6.14 i X REME
2 2720 = B HE 3| = 1454 0.1 145 854 2578 0.1 8.02 Jtisis AR R A
3 2635 | WETF ER 3| Al | 1487 1.3 156 808 2736 1.1 7.22 IR ch 2R R A
4 2577 B EH=E | ERLE [ 3 | RE | 1452 0.4 139 739 2587 2.6 6.17 IR ch 2R RE
5 2515 g F4E [N 2 | g | 1480 0.3 149 754 2755 0.6 7.03 BhBEE |FBRETT L
6 2497 RSy ek EIg 3| BEH | 1545 0.0 140 933 2695 1.1 7.17 hEAEE %
7 2414 Hep & R 2 | % | 1588 0.0 146 901 2785 1.1 7.17 2N %
8 2393 WE HE [EHRAACl 1 [ REF| 1518 1.3 141 792 2766 2.1 7.02 I chr sk RH
9 2374 g B iR 1| BB | 1525 0.0 140 782 2757 1.1 7.17 shEEs K%
10 2344 A £3 WItem | 3 | R | 1581 0.3 152 779 2871 0.6 7.03 BRPERE | FBRECT L
11 2297 =2 & (¥ yaAc| 3| BB | 1645 | -0.4 140 671 2586 0.0 10.28 | SREFRS w4 ]
12 2250 ED A+ | 3| #mR | 1582 0.3 140 818 2851 0.6 7.03 BRZERE | FBRAACT L
12 2250 BEE F | awara-tar| 2 | 18 1509 [ -2.5 136 599 2740 |-3.3 4.01 |E#rsmizgs B
14 2248 KEHEF R 3 | EE | 1593 1.3 135 895 2834 1.1 7.17 shEE{s &%
15 2237 NGB SR [EHRMACl 1| RE | 1578 1.3 135 877 2856 2.1 7.02 IR ik K%
16 2229 R A b 2 | B | 1653 1.7 138 760 2698 2.1 7.02 I ek K&
17 2226 N A 2R 3| =E 1583 1.4 135 709 2726 2.0 71.22 BEEWL BBE
18 2216 HIERFITE #EE | 2 | RE | 1637 0.0 146 693 2953 1.1 7.17 shEE{s &%
19 2210 HE D I 3| ANI| 1547 1.4 130 695 2729 1.1 7.22 IR ch 2R & 0O
20 2190 Wk BX HEME | 3 | B | 1588 0.3 140 794 2900 0.6 7.03 BRPERE | FBRICT L
21 2187 BEO DA ddea [ 2] & 1714 1.3 135 725 2602 1.1 7.22 IR ch 28R & 0O
22 2173 =iE i m/A | 1| & 1630 0.8 146 693 2856 2.0 7.22 BEEWL BBE
23 2163 RE B W | 2 | R | 15672 [ -1.7 130 829 2856 0.3 5.04 | FEHERE wism
24 2152 IR FidE | HMEER | 3 | #R | 1548 0.3 134 777 2920 0.6 7.03 BRZEE | FBRAACT L
25 2144 AHXREE B 3| E 1638 | -0.8 140 749 2842 1.2 7.08 | BchEEFE | ELRE
26 2141 a0 K@ 1Lt 3| AN| 1663 0.1 140 4 2802 1.4 8.02 JLigichz i
27 2132 BHEOE | BRKE | 3 | K% | 1672 1.3 146 781 2919 1.1 7.17 shEE{s &%
28 2131 P M2 3| =E 1812 [ -3.2 150 773 2773 1.2 5,00 | B&EZmas | FLRE
29 2121 SBEE BRI i S| AN 1650 |[-1.6 138 825 2892 |-1.0 ] 7.08/09 | BrhZE{s i
29 2121 BE KB i 2 | B 1590 | -2.6 135 678 2823 1.2 7.08 | BchEEFE | ELRE
31 2106 WA mE INVE 2 | 18 1603 -2.2 135 648 2797 1.4 6.04 | mamRmmERES ==
32 2100 IR fERAR | 3| #mB | 1642 2.3 140 818 2956 1.5 6.03 fRmRE
33 2087 A DE | 445 vaAc| 2 | BB | 1658 [ -0.4 135 659 2747 0.0 10.28 SR
34 2067 AFEPR il S| AN 1640 |[-2.2 135 822 2937 1.4 8.02 JLigiich s i
35 2064 B S REE 1R -0.2 144 604 2847 | -0.7 9.27 ABFA + BErH
36 2047 H RAF R 3| ¥ | 1624 1.3 135 745 2922 2.1 7.17 thEE s %
37 2041 Ml BF Bk 3 | &% | 2001 -0. 4 154 886 2815 3.2 6.17 IR ch 28R B %
38 2033 RS HE 3| =E 1697 0.8 130 824 2828 2.0 7.22 BIEEWL BBE
39 2027 2% N"E AL 2 | gm | 1675 |[-0.3 140 616 2828 0.5 10.29 | FEREHRE| A+AF
40 1988 KE O # | EFRMAC| 1| KB | 1597 0.4 125 733 2899 3.2 6.17 IR ch &Rk %
41 1971 '/ &C =H 2 | R% | 1659 |-0.1 140 683 2987 0.0 10.28 | SREFRS w4 ]
42 1939 | #Z hOulf| A S| AN 177 1.1 138 617 2771 1.1 7.22 12 ch= R R K 0O
43 1928 B HR [EFRAACl 2 | RE | 1671 1.3 140 621 2973 2.1 7.17 thEEs %
44 1922 KE OHE | BEAES (2 [ = 1750 | -2.6 143 732 3001 1.2 7.08 | BchE@EEiE | FILRE
45 1920 RE 2 #yE [ 1| EH | 1864 [-0.4 140 710 2784 0.0 10.28 | REFRS v SR
46 1919 BINEAER %R 3 | K | 1669 1.7 130 821 3025 1.7 7.02 I 2k K&
47 1917 TR HRE iR 3| RH | 1625 |[-0.8 115 619 2734 2.5 6.17 IR ch 28R K&
48 1911 AR &K @i 2 | = 1839 | -3.8 153 666 2983 1.2 5.05 | BEZZRS | FILRE
49 1901 FXSEE: tha 3| & 1747 | -2.2 130 802 2910 2.3 4.01 |E#rsmitzRs [




